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It cannot acquire, even by a sale - 773p R 0% NN

Overview

X701 27 ruled that if someone purchased an item with w7p7 money 322 (unknowing
that it is w7p) he did not acquire the item (it remans under the ownership of the
seller), and the w7p7 money remains wipi. Our NOIN explains the details and
reasons of this ruling.
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And the v7p77 money, which was used for this purchase, does not leave the domain
of w7pn to become 1911, and there is no rule of A2 79°¥n according to 2", only

if one ate (32 w2) WP -
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However by merely removing xw2 w7pi (by giving it away for instance by Pw17°p
or 1on), there is no 79°w», for wherever the wipn is found, the name of w7pn
applies to it -
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For wherever the w7p1 is, it is in the treasury of the Merciful One, so it is not

79°vn, since if he would have known that it is w7277 he would not have removed it
from the domain of w7pi7 to the domain of v1°777.
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However, if he gave the woman w7p7 money knowingly, he was w7p» her, for %'

follows his reasoning where he states that w7p;7 can be defiled knowingly -
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And 1" derives it® from the verse of %v» wnn, for :7°v» only indicates a change -

! This is not necessarily limited to eating exclusively but it includes any type of usage where the wp:1 is diminished
(as it is by eating), such as burning oil of w777 or chopping (and thus devaluing) with an axe of wTpn, etc.

2 See the X7ma later in the name of X795 727 7°»Wwn 137 on 3,71

3 This is a second type of 72°vn (not like 191 77°2X in footnote # 1). In this type of 72°yn there is no physical change in
the wIpn object, but rather it is transferred out of W7pn NWA to V177 MW, According to »" this type of A2°¥n is only
by 71, but not by :w.

4 See X,09p 7 where WP W™ states; ARIPMY YIRT 'T9 22027 7O0OK RITIT RIA 222 7ONOKT KD 9.

> moon is offering two explanations why there is no 77°vyn by LY77 MWA? WIPA MW X°XI1; one, because the person
would never make this transaction, if he knew it was w7p7 (so it is similar to a Myv2 7°1p), and two, even though the
WP item was physically removed from w7pi nwn to v 77 MW, that does not matter, since WP MW is everywhere,
so it never left wpn mwA.

6 2,73. It is the view of »"1 that if one is T2 VTR MWI? WIPA MW A R°X1, the money ceases to be wTpn T and it
becomes 11777 171 and the Wpn MWw-n X% has transgressed the 77°yn MOR.

7 The X"w"mn amends this to read 9y» 2wnn (in 10,71 X7P™), instead of v 7997 K.

8 In actuality the 2109 of 79°¥n (in 10,7 XIPM) reads; "3 77 WIpn a2 IRLM Y¥n ¥nn >3 Wy, indicating that 77°vn is
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Meaning a change done wantonly; the 770 by writing v 219 teaches that if he
wishes to steal it from w7pn, he will acquire it immediately, and this w7pn

changed the w7p7 in a case where he was w7»» a woman, knowing that it was w7pr -
= INYUN NVYN 29 YWIN 22) NIV a) (N 93993) 29097 193 1N YN NYYNT NIND

And a proof that >¥» Yy»n means knowingly, for it is written regarding a 7w,

by MWK ;1wwN 93, it states there -
- N DI MDY INTIT XD T2 THID TP BN IPN 12 AP

And she acted fraudulently towards him, and there perforce that 7%°v» was
79123, for when she is licentious she is acting 793,

mooIn responds to an anticipated difficulty: '
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And the o5 of Y2 21 o277 3031 (is not to teach us that the only way that w7pi7 can
be %onnn is through 705 11°79, but rather) it is merely a 7%» that to be wipn Honn
properly one should do it through 703 17>79, for in truth w7p7 can be Y2rn» without

money if he desires to steal the w7pn. This is the view of n"1 regarding wpn that wp 7112

(because it is 971nn), but w°p X2 A wa (for it is not 271nn) -
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But however by "1 "wy», whether it was a2 or whether it was 79122, he was

not w7p» the woman according to »''9 (who maintains that w"yn is 7123 1702) -
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For it is only by w772 7959 where the 57990 (by writing 5¥n 9191n) revealed to us
that w7pi is Y2rn» by 702, however by 2wy» wherever it is found the name of

9wYn is upon it and it is not Yonnn, and remains 7123 177 (since we have no P1O9) —
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However "2 maintains that w"vn is 2%%wa 1%, so therefore if he was 792 wipn

only xwa. However according to »" this is referring to an 79°2X type of 77°vn, where the wpr item is diminished,
but by w7 mwn X% (where the wIpn item remains intact, but it is merely transferred wpa MW VY77 MYIN),
there is 7'y only by 71 but not by 3w according to n". [The 7710 is teaching us two types of 719°¥n; one 21wnn 3
Syn (which is v177 MWL WIPR MR 7112 ARX) and the other Axwa axwm (where he ate or diminished w2 wipn).
See yw °10 who has some difficulty with this. See ‘Thinking it over’.

? See footnote # 7.

10 Regarding the laws of redeeming w7p7, the 77N writes (10,13 [*MpPra] X1P7) concerning a house NX 9X3 W Tpn DX
17 O 1OY 797 702 " 03, and similarly in v P09 it states 17 apY 19V 797Y A0 "NAY TWA DR ORY DRA OR), seemingly
indicating that the only way to remove the w7pi status from an item is to redeem it with money (but it does not lose
its WTpn status by merely stealing it, as N190IN is suggesting).

' Despite that the X m cites this verse of Y2 op1 7o27 N1 many times in 0"w, nevertheless there is no such P10?; it is
merely a modified version of the 2°p105 regarding redemption of w7ps.
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it is a valid P@17p, since it is his money -
RNIINT 2RNI0 DIV NI WA YaN

However by s she is not nwTpn; because of the bother of the trip, the woman
does not want to accept the v"vn as PLITp.

Summary
We derive from vn 219nn according to "1 that there is 79°v by wTpn Mwan XXM

v1Tn MWA? only by 7m (not by aw). However by w"vn it is never %nn» and
therefore he cannot be w7pn with it (since it 1s M2 171). According to " you can
be w7pn with 7712 w"vn for it is 2°7v2 1an, but not AWa because of RANIRT KA.

Thinking it over
According to moon if one is TIM2 VYT MWL WIPR Mwan XX, will he be

obligated in a 79°v» 1277, according to n'"2?'

12 However by 7', they both knew it was w"vn and she agreed despite the RnXT R0
13 See footnote # 8.
14 See mwn nom.
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